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Time : 3 hours Maximum Marks : 100
(Weightage : 70%)

Note : Attempt questions from each section as per instructions

given under each section.

SECTION-A

Answer any two questions in about 500 words
each : 2x20=40

1. What were the main debates on industrialisation
in Russia after World War 1 ?Discuss.

2. Explain the concept of triangular pattern of trade.
How did Britain benefit from this kind of trade ?

3.  Discuss Marx’s theory of development. In what
way is Rostow’s theory of development different
from Marx's ?
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4. Analyse the major changes in the industrial
structure of national product and labour force in
the course of modern economic growth. Also
mention the reasons why product per worker in
some sections of the services sector is higher than
nationwide averages, in developing nations rather
than developed nations.
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SECTION-B

Answer any three questions in 250 words each.
3x10=30

5.  Describe the various measures adopted to increase
agricultural productivity in Britain in the 18th and
early 19th century.

6. What were the important factors that led to the
rise of the cotton industry in Britain during the
industrial revolution. Discuss.

7.  Discuss the Dependency thesis as discussed by
Latin American econimists.

8.  Explain the main features of the New Economic
Policy introduced in Russia in 1921. How
successful was it ?

9. Discuss the various forms of state intervention in
Japan following the Meiji Restoration.
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SECTION-C
Attempt all the questions in this section as
directed.

10.  Write short notes on any three in about 100 words

each : 3x5=15

(a)  Economic Planning in Japan.

(b) Gold standard and the policies of major
countries.

(c)  Technological Dualism.

(d) Economic growth and economic
development.

(e)  Rice riots in Japan in 1918.

11.  Briefly define any five of the following : 5x3=15
(a) Spinning Jenny
(b)  Import substitution
(c) Leading sector
(d) Cheap money policy
(e) Vsenkha
(f)  Unequal exchange
(g) Zaibatsu
(h) Devaluation.
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10. el @17 T 100 - 100 151 ¥ fewforai fag 1 3x5=15
(a) SI9MA ¥ ik e
(b) UM R &2 9 & Hifqai
(c) YrENfTRta gy
(d) orfefs wafg oiR enfefe faemma
(e) STIM F 1918 F =ael & faw 7
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(g) &Y
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